ACTUATOR NUMBER
SIZE J L M N P Q R S T \ w OF TURNS
MDT-25 | 4-11/16] 2 | 2178 | 2 | 4-1/2 | a4-1/a | 8-1/4 | 7-7/8 | 7-7/8 | 8 [ e-1/8 | 32
MDT—3S | 5-5/8 | 2-7/16 | 3-1/4 | 3-5/32 | 65-5/8 | 5-3/8 | 10-3/8 | 10-1/2 | 10-1/8 | 12 [ o-1/8 | 30
MDT—4S | 6-3/8 |2-27/32| 3-3/8 | 4 | 7-5/16 | 6-3/4 |11-5/16| 11=1/2 | 11 12| o-1/8 | 40
MDT-5 | 7-9/16 [3-15/32] 4-1/2 | 5-1/2 | 8-374 | 10 17117 3/16 [17-3/16| 18 |16-7/16] 44

VibE | A B ¢ D Eal F 6
3 | a3/a | 31744 7-1/2 | 5 | 13/16 | 4—-5/8 | 6
4 5-1/2 | 3-1/2 9 5 1 8--5/8 | 7-1/2
6 |e-1/2 [5-1/8 | 11 5 |1-1/16 | 8-—3/4 | 9-1/2
8 | 7-3/4 |6-1/2 |[13-1/2| 6 |1-3/16 | 8--3/4 [11-3/4
10 9 lo-7/8] 16 8 |1-3/16 | 12--7/8 |14-1/4
12 |10-1/2 [11=3/8 | 19 8 [1-5/16 [ 12--7/8 | 17
14 |1-7/8 [12-3/4| 21 8 |1-3/8 | 12--1 [18-3/4
16 [13-1/2 |14-3/8 [23-1/2 | 8 [1-7/16 | 16——1 |21-1/4
18 |14-3/8 [15-1/4 | 25 8 |1-9/16 [16-—1-1/8|22-3/4
20 16 |16-7/8 [27-1/2| 8 |1-11/16 [20-—1-1/8] 25
2 ST
AWWA NUT 4——m/:z
CHAINWHEEL — ’ | f
o 1 I:’ B\ m D
N &6 : 9 —Ll f
L BT RL LT |
f 70 o o O
. e ||
™
HANDWHEEL
- Rt nnd * Kas
T
, R
ACTUATOR POSITION. 1
NOTES:
SRRy AL 1. ALL DIMENSIONS SHOWN IN INCHES.

2. "D" DIMENSION +1/16” FOR 3" THRU 10" VALVES.
D" DIMENSION +1/8” FOR 12” THRU 20" VALVES.

3. FOR BOLTS SMALLER THAN ¢1-3/4, BOLT HOLES WILL
BE 1/8" LARGER THAN DIAMETER OF BOLT. :
FOR BOLTS ¢1-3/4 OR LARGER , BOLT HOLES WILL
BE 1/4” LARGER THAN DIAMETER OF BOLT.

4, DIMENSIONS AND DRILLING OF END FLANGES
CONFORM TO THE AMERICAN CAST IRON FLANGE
STANDARDS, CLASS 125 (B16.1).

5. VALVES MANUFACTURED & TESTED IN
ACCORDANCE WITH AWWA SPECIFICATION C-504
LATEST REVISION, CLASS 1508B.

6. RECOMMENDATION FOR MATING FLANGES: WHERE
INSULATING BUSHINGS ARE USED, IT IS NECESSARY
THAT BOLT HOLES BE DRILLED OVERSIZE BY AN
AMOUNT EQUAL TO TWO TIMES THE INSULATING
SLEEVE THICKNESS TO MAINTAIN THE SAME MINIMUM
CLEARANCE FOR BOLTS.

= NO. & SIZE OF BOLTS
125# STANDARD LAYOUT
STRADDLE CENTERLINE
INCLUDES TAPPED HOLES
EACH FLANGE

TAPPED HOLES "F" UNC 28 X E DEEP —
VALVE NO, TAPPED HOLES

SIZE (EACH FLANGE)
3"-16" ALL THRU HOLES G= A\ | 5~25-17 | cue memox w0 TE | 17
. . o ToP. e IRC y
18" & 20" 2-TOP; 2-BOTTOM BOLT CIRCLE /N | 5-27-11 [mev. coL B & € 00 TousmaNees| Res | AT
FLANGCE=OD . ——— B

+1 é&
FLANGE THICKNESS "€™:_-. O
LAYING LENGTH "D™:

3" THRU 10° Tine GENERAL ARRANGEMENT DRAWING
12° THRU 20" +i/8" LINESEAL il 150B BUTTERFLY VALVE
BOLT CRGLE "6~ ___T1/64" 3"-20", FLANGED ENDS
FLANGE 0.0."C™: MDT W/ MANUAL ACTUATOR
- . Ty ran
,32- T,"Hm 1200' Fa/6" SCALE _NONE  DATE..1=20-08

DRAWN BY CEM_ . CHECKED BY 48

APPROVED GA=BORDER
orwe. no. GA—11864MS l ReV 2 IA/C




